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AIEZEERX (ACI622ZE S
O VY —MTHEER=2m/hrLl FTOEDIEA
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80 - R
BXAEIE Pm= 08 +
T 420
80 % 0.85
Pm= 08 +
15+ 20

(1kgf=9.807N)

(fBL. Pm=10t/m?E1=1F2.4h t/m’LIA)
({BL. Pm=98.07kN/m2357':‘i138.65 kN/mzl/lW)

=2743 t/m> — 2690 kN/m?’

ITEREER=0.85m/hr
BRI H)—NRET=15" C
BRIV D) —FRRKESh=59m

2) BARILOHEEMA ft (W5H/8 : S45C) 58.8 kN
3)  TARNRIVE —LEFBRMIFE—AVE fb 205 kN *m
" HBREARA fs 58.8 kN
4) NRIILBRFFTUH—RILLDHFBFEAMA - W5/8(SS400) 14.3 kN
5) $#. FILSHMOHRISHERVER
B (STKR400, SS400) O f b= 15700 N/cm?
(STK500) f b = 23500 N/cm?
(ABNO1-T5) f b= 11800 N/cm?
HAET  (STKR400, SS400) O fs= 18830 N/cm?
(STK500) f s= 12700 N/cm?
(A6NO1-T5) fs= 6790 N/cm?
YR () O E= 206x10° N/cm?
(7 JLZ#) A6NO1-T5) E= 686x10° N/cm?
6) ERODHFBILAE RUEH
#1F (MR RICER) O f b= 1370 N/cm?
YOURE  (HHEARICER) O E = 549x10° N/cm?
7 KHOHEBREHE RUEH
BIF (RN DOAFEZER) O fb= 1029 N/cm?
YR (R OHEESR) O E= 686x10° N/cm?
H AR (RLvDHARER) fs = 735 N/cm?
8) HREHMOBFEIERE
{5 FAH K-tk BiERE Alcm®) | BFE-RE—AUM(em®)  [MEZEHEZ (cm®)
A & |0O-100x100%3.2 12.130 187.0 375
O [0-60 %60 X 2.3 5.17 28.3 9.44
O & # |900x 1800 108 Ix= 12.96 Zx=21.6
12mm ly= 25.92 Zy=43.2
£ & |O-180x100%55x%x35 25.25 Ix=1145.0 Zx=121.3
FILE Iy= 392.0 Zy= 784
£ & |O-150x100%4.0%x35 18.42 Ix= 616.0 Zx= 822
FILS Iy= 308.0 Zy= 615
/84T [p486x24 3.483 9.32 3.83
O A # | K-90x45 405 273 60.7
# # |H-300x300x10x15 119.8 20400 1360
O WPB I-250 % 129 X 4.0 16 Ix= 1957 Zx=151.7
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26.9 kN/m? ———— EREtEH KY

2)  AAHRILE(W5/8:S45C) DI&ET
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2 ~JAR/INRILE — L
—— O O ® .
~_FA7RJLEW5/8
S
=

900 900

BARILE 1RIZHNDHEPET &
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Pm X @ X h

26.9 kN/m? x1.975m X 0.90m

479 kN
479 kN

= 082 = = 10 ——- OK
58.8 kN

@ tw/\L—2(E#EMEARE 0.9m
h /A \L—%(BEM)E3AME 1.975m=1/2(2.1m+1.85m)

3)  IRRILZBIFTUH—RILIW5/8(SSA00)DIEET /SR ILm?Ef-YEE W=0.687 kN/m’

Foh—mILk ARIZHMNBNEPETE (1IRI2KTZITE-E5)

P

W X @ X h

0.687 kN/m? X 6.0m X 6.0m x 1/2

124 kN
124 kN
= _087 = = 10 ——- OK
143 kN
@ /SRJVERRMESFE 6.0m

h /\ARJILESHRA 6.0m
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4) EBRMOBRE

O ERAM &R BE 12mm
@) BHEAMEYF (ARA/Y) L= 0225 m
Wa= 2421 kN/m @) &HlREa#EmMm (EvyF) @ = 0.90 m
AN
Wa = W x @
L= 0225m
= 2690 kN/m?x 090 m= 2421 kN/m
O BFE—AV (M) 2421 N/cm
Wa - L? 2421 kN/mx  0.225 ’m
M = = 0.1533 kN*m
8 8 15330 N*cm
@) BIFIEAE  (ob)
M 15330 N*cm
ob= ———— = —— = 710 N/cm? = 1370 N/cm”
Z 2160 Cm3 ...................... O K
O -hHE ()
5 *Wa -L* 5x 2421 N/em X 225 ‘cm
6 = - =
384 -E -l 384x  549x10° N/cm?®x 12.96 cm*

= 0.11 cm
5) TEImAHM DEE

5-1)  E&umAH (K-90 x 45)

O HEimAM (R/V) L= 090m
Wa= 6.06 kN/m O BinAH (EvF) @ = 0225 m
[ [ [ 1]
Wa = W x @
I L= 0900 m = 26.90 kN/m’x 0225 m= 6.06 kN/m
..................... 60.60 N/om
@) HIFE— AUk (M)
Wa-L? 6.06 kN/mx  0.900 ’m
M=— = = 0.6136 kN+m
8 s 61360 N*cm
O BIFICAE (ob)
M 61360 N*cm
ob= ——— = ——— = 1011 N/ocm® = 1029 N/cm’
Z 6070 cmS ...................... O K
O f=h#=z (6)
5-Wa-L* 5X  60.60 N/cm X 90.0 “cm
§ = = = 0.28 cm

384-E-1 384X  6.86x10° N/cm?®x 273 cm*
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@) BimAM (R/32) L= 090m
Wa= 6.06 kN/m @) Bin R (EvF) @ = 0225 m
[ T T
Wa = W X @
I L= 0900 m = 2690 kN/m’x 0225 m= 6.06 kN/m
..................... 6060 N/Cm
@) HIFE—AVE (M)
Wa-L? 6.06 kN/mx  0.900 “m
M = = = 0.6136 kN-m
8 8 e 61360 N+ om
@) BIFISHE  (ob)
M 61360 N-cm
ob= = = 6500 N/cm?® = 15700 N/cm?
Z 944 cmS ...................... O K
@) TAMEHE (T)
Wa-L 6.060 kN/mx  0.900 m
Q= = 2727 kN - 2727 N
2 2
Q 2727 N
T= = = 527 N/cm’= 8830 N/cm’
A 517 sz ..................... 0O K
O =h#=z (6)
5-Wa-L* 5X  60.60 N/cm X 90.0 “cm
§ = = = 0.09 cm
384-E-1 384x  2.06x 10" N/cm?x 28.30 cm*
6) TAK/INRIJLE —L(WPB) DI&RET
O WPB  (R/8V) L= 210m
Wa= 2421 kN/m @) WPB  (Ew¥F) @ 0.900 m
[ [T T T 1]
Wa = W X @
I L= 2100 m I = 2690 kN/m?*x 0.900 m= 2421 kN/m
..................... 24210 N/om
@) BIIFE—AE (M)
Wa-L? 2421 kN/mx  2.100 ?m
M = = = 133 kN-m
8 8 = 205 kN'm —OK
@) TAMEHE (T)
Wa-L 24210 kN/mx  2.100 m
Q= = 25.421 kN
2 2 = 588 kN -—O0K
O f=h#=z (6)
5-Wa-L* 5X 24210 N/ecm X 2100 ‘cm
§ = = = 0.15 cm
384-E-1 384x  2.06x 10" N/cm?x 1957 cm®*
Uk




